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Time : 1      Hrs.
Sem - I/II 

Applied Science (Physics)

Full Marks : 35

Pass Marks : 14

Answer only 10 questions from Group A, each question 

carries 1 marks.

Answer all Three questions from Group B, each question 

carries 4 marks.

Answer all Two questions from Group C, each question 

carries 6.5 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Explain interference of sound, echo and resonance. 

how they are overcome in a hall?

inspection. What are it's advantages.

limitations of it.

6.

OR

6.5
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1. Choose the most suitable answer from the following

options :1x10=10

(i)

(i)

(ii)

GROUP - A

A stone is dropped from a tower it strikes 
the ground after 4 sec then height of the 
tower
(a) 78.4m
(b) 7.84m
(c) 784 m
(d) None of them

The maximum displacement from mean 
position is 
(a) Frequency
(b) Time period
(c) Amplitude
(d) Angular speed
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4. Write advantage of N.D.T.

N.D.T.

OR

Answer all Two Questions.
2 x 6.5 = 13

Explain weber's law. Also explain Fenchner's law

as modificaiton of Weber's law.

5.

4

6.5
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(iii)

(ii)
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connected with a massless string passes

over smooth pulley if m  going up then 1

acceleration of the bodies.
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a =
(m + m )g1 2

(m  - m )1 2

a =
(m  + m )g2 1

(m  - m )2 1

a =

a =
(m  - m )g2 1

(m  + m )1 2

a =
(m  - m )g1 2

(m  + m )1 2

a =

(a)

(b)

 

(c)

  

(d)



1602103/1601203/P1602103

P.T.O

9

OR

Write 2nd law of newton. Show that is gives the 

value of force.

path with zero acceleration?

OR

3.
4
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(iv)

(iv)

(iii)m12 

The measurement of inertia is 

(a) Volume of the body

(b) Mass of the body

(c) Velocity of the body

(d) None of them

a =
(m+ m)g 12

(m - m) 12

a =
(m + m)g 21

(m - m) 21

a =

a =
(m - m)g 21

(m + m) 12

a =
(m - m)g 12

(m + m) 12

a =
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(x)

Answer all Three Questions.
4 x 3 = 12

Write Newton's law of motions.2.

4
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(vi)

If spinning system shrinks itself do which

its spinning motion increases in due to

(a) Conservation of linear momentum

(b) Conservation of angular momentum

(c) Absence of friction 

(d) None of them

velocity 40 m/s. and amplitude is 20m 

then angular velocity of the particle is
-1(a) 4 rad sec

-1(b) 1/2 rad sec
-1(c) 2 rad sec

(d) 2m/sec
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cosine?
0

(a) 0
0

(b) 30
0

(c) 60
0

(d) 90

Sine Cosine

Tendency  of any system is to  

(a) Minimize its energy

(b) Maximize  its energy

(c) Fluctuating its energy 

(d) None of them

(ix)

(ix)

(viii)
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 1/2rad sec

  2 rad sec

  2m/sec

The method of liquid penetration is used:

(a) Porous material

(b) Non-porous materials 

(c) Rough surfaces

(d) Smooth surfaces

 

 

  

(a) Candela

(b) Lumen

(c) Lux

(d) Phot

(vi)

(vii)

(vii)
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